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1| 105.02.16 00016 105.02.17 FORHEHL AR 1,000,000 FRFHARE 1,000,000

2 | 105.02.18 00020 105.02.24 TEOKE TR AR 300,000 | FEESIMEE A S GBS 4) 300,000

3| 105.02.18 00018 105.02.24 SO 500,000 | ESHEEAS CHRITS) 500,000

4 | 105.02.18 00019 105.02.24 EQ) 500,000 FEHARCE 500,000

5 105.02.18 00017 105.02.23 FO 6,000 B2 ANB CHPIE R %) 6,000

6 | 105.02.18 00023 105.02.25 SEORE 6,000 |  BEEMBIABCHHRES) 6,000

7 | 105.02.25 00021 105.02.25 2RO ANRHHERAE LoD, 00 SR Lm0
200,000 RS T R R R E A 200,000

g8 | 105.02.26 00026 105.02.26 A OB 6,000 | I AR CHIRES) 6,000

9 | 105.03.01 00027 105.03.01 #HOFH 60,000 | FEEESMIHAECHFIRE4) 60,000

10 | 105.03.02 00029 105.03.03 FO% 000 | RV R AV >0
10,000 FSRFHARE 10,000

11 | 105.03.08 00034 105.03.09 EE A O e 293,900 FRF AR 293,900

12| 105.03.08 00032 105.03.08 SO BB AR 500,000 FEHARCS 500,000

13 | 105.03.15 00043 105.03.15 | EEEmEH TOBHEEREAS 220,000 F RS 220,000

14 | 105.04.29 i 197 | fdsaE -5 AT AR 197

15 | 105.07.06 | "R BBO N 105.08.01 ERTEE AR 100,000 TR AR 100,000
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